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ENGLISH VERSION

Instructions : (1) Give answers of both sections in answer book

only.

(2) All questions are compulsory.

SECTION - 1

1 M.CQ. 20
(1) "Social relations effects on economical activities".
(A) Moore-Ranidar (B) Helen Goldner
(C) Lupten (D) Sushilchandra

(2) Whose contribution is more in the field of industrial

sociology ?

(A) August Comte
(B) Emile Durkheim
(C) Ogburgn

(D) Elton Mayo

(3) In which country there was the origin of Industrial

Sociology ?
(A) America (B) Europe

(C) Africa (D) India
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4)

()

©6)

()

@)

Factory defined as a social-technical.
(A) Ranidar (B) Rice

(C) Moore (D) Milar-Form

Which era is called industrial era ?

(A) Post Industrial (B) Technical

(C) Hand skill (D) Traditional

What source of powers are used in modern industries ?

(A) Live (B) Inanimate

(C) Miracles (D) Capable

Business is basically a social reality.

(A) Ferchield (B) Fraud

(C) Wilburt (D) Ranidar

Millar and Form describes the Bureaucracy as

(A) Society of modern

(B) Society of equals

(C) Society of unequals

(D) Society of traditions
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(9) How is the structure of industrial formal association ?

(A) Feudalism (B) Bureaucracy

(C) Autocracy (D) Democracy

(10) How be the tillerism to a man ?

(A) Inactive (B) Active

(C) Half skilled @) Skilled

(11) Who was the proprietor of school of classial conditioning ?

(A) Brum-Selzanic (B) August Comte

(C) Fedrik Tylor (D) Miller-Form

(12) Who invented Howthrone experiment ?

(A) Redclif Brown (B) August Comte

(C) Johnson (D) Elton Mayo

(13) What are the main source of workers to appoint in

industries ?

(A) Internal-external

(B) Globalized-local

(C) Individual-Unindividual

(D) Formal-informal
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(14) What workers are distribute to industrialist ?

(A) Profit (B) Loss

(C) Work (D) Capital

(15) What name is given to silent factor in Relay assembly

test experiment ?

(A) Y-Factor (B) Z-Factor

(C) YZ-Factor (D) X-Factor

(16) How many labour unions came into existence in 1920 ?

(A) 65 B) 66

©) 68 D) 64

(17) When did the industrial labour organization establish ?

A 1919 B) 1819

(C) 1947 D) 1948

(18) Given by sociologist concept of Bureaucracy.

(A) Karl Marx (B) Max Weber

(C) Robert Marton (D) Emile Durkheim
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(19) Workers are not taking help of this for industrial

conflict ?
(A) Strike B) Mob
(C) Shut Down (D) Suicide

(20) How 1is the universal structure of ILO ?

(A) Two sides (B) Three sides
(C) One side (D) Many sides
SECTION - 11

2 (Clarify the meaning of Industrial Sociology and discuss its 10
scope.
OR
2 Evaluate the Howthrone experiment from the view point 10

of Industrial Sociology.

3  Clarify the meaning of Trade Union. Give its functions. 10
OR

3 Discuss the methods of recruitment of workers in industries. 10
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4 (a)

(b)

Write brief note : (any one)
(1) Importance of the study of Industrial Sociology.

(2) Clarify the meaning of Industrial bureaucracy.

Give its characteristics.
Write brief note : (any one)

(1) Line and staff organization in Industrial

Bureaucracy.

(2) Clarify the meaning of Industrial Sociology and

discuss its nature.

5 Answer in short note : (any two)

ey
)
3)
4)

Relay Assembly test-room experiment.
Importance of Trade Unions
Types of Trade Unions

Workers Absenteeism and Turnover.
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